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telling the story of Wrighters Brother. Wrighters Brother record
cancompare the data and found it was completely wrong. They
solved two problems:Wind Design by using wind tunnels, and
second problem I can’ tremember. Atsame time in Sydney and
New Zealand there are similar experiments.Section 4 is about
planning the trees. Firstly tell about the benefits of tree: reducewindy,
maintain humid, less dangerous etc. It keeps temperature below
20centigrade. It keeps low noise frequency pass through. It
evaporates water. Theethree factors for tree evaporation are sunlight,
waterandroomtogrow.J O O:plant0 0000 O. 00000



J,ubgtdu.ougdoogtdo:gbbogduobootdd
Oo,000,00000000.100Test 00 0O00OO0OOMO
Jo0o0doodoooodoid www.100test.com



